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1. i fag (3, - 6) foigadi (0, 0) T (x, y) I e a1t {@r@s 1 Hea-fofg 2,
forg (x, y) B

(A)  (=3,6)

(B) (6,-6)

©) (6,-12)
3

(D) (5, -3)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises four sections — A, B, C and D. This question
paper carries 40 questions. All questions are compulsory.

(it)  Section A : Question Numbers 1 to 20 comprises of 20 questions of one mark
each.

(itt)  Section B : Question Numbers 21 to 26 comprises of 6 questions of two marks
each.

(iv)  Section C : Question Numbers 27 to 34 comprises of 8 questions of three marks
each.

(v)  Section D : Question Numbers 35 to 40 comprises of 6 questions of four marks
each.

(vt)  There is no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of one mark, 2 questions of two marks,
3 questions of three marks and 3 questions of four marks. You have to attempt
only one of the choices in such questions.

(vit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators is not permitted.

SECTION A
Question numbers 1 to 20 carry 1 mark each.

Choose the correct option in question numbers 1 to 10.

1. If (3, — 6) is the mid-point of the line segment joining (0, 0) and (x, y),
then the point (x,y) is

(A)  (=3,6)

(B)  (6,-6)

C) (6,-12)
3

(D) (5’ -3)

1.430/5/3] 3 P.T.O.
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2. Iepfa-1 # QU U g9 |, TUei@n PQ o SHR GiE S gt Taei-@nsti 6

T B
P
Q
-1
(A 0
(B) 3%
) 2
D) 1
3. fa'il'lﬁol TR 4x2 — 6x + 3 = 0 1 TIfahet (diseriminant) %
(A) 12
(B) 84
(C) 2438
(D) -12
4. T=fafea siErar 9ea & oo
i 0-5 | 5-10 |10-15| 15-20 | 20-25
ELCIEGIHR 8 10 19 25 8
HIegeh 1 < 3= °IFT 3
(A) 15
(B) 10
©) 20
(D) 25
\lg Q Q
5. IfC cosA = 500 <A <90°%,d A SUK 3
J3
(A) o
(B) 30°
©) 60°
D) 1
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2. In the given circle in Figure-1, number of tangents parallel to tangent PQ is
P
Q
Figure-1

A) O

(B) many

) 2

(D) 1
3. The discriminant of the quadratic equation 4x%—6x +3 =0 is

(A) 12

(B) 84

(C) 2438

(D) -12
4, For the following frequency distribution :

Class : 0-5 | 5-10 | 10-15|15-20 | 20-25
Frequency : 8 10 19 25 8

The upper limit of median class is

(A) 15

(B) 10

C) 20

(D) 25

5. If cos A = g , 0°<A <90° then A is equal to

3
(A) %
B) 380°
(C) 60°
D) 1

1.430/5/3] 5 P.T.O.
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foreft srave oo & B9 I wilkesar @

A) 1

(B) %

(C)  ufearfyg =&

M) 0

Ife Wasr wieRn 1 Uk W T 7, 41 FEfa w@nd
(A) HATR &

B) wfe=sd = gurdt &

(C) g guT Bt &

(D) =i wio=ad Bt &
fageti 3,-2)da (-3, 2) F A= H gl 2

(A) 52 T
(B)  4+/10 318
(C) 2410 3ohrE
(D) 40 T8

TG 180 Wl AT UHGE! o IS & &9 § Ih i W - I Bl @
(A) 10 x2x32
(B) 25x4x8

C) 22x3%2x5
(D) 4x9x5

W% o 59 % RN o T MAE w1 GFU JEIF &% 8 (1) > Ty)

A) mrjl+mryl

B) ml(rj+ry+m ]:'22

©  ah e af sy

(D) \/hz +(r, —1y)?

YT &I 11 G 15 F Rk €917 9RT |

11.

af¢ 9gUE ax® - 2x H TH YIS 2 B, A @' H AN 2 |
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A) 1
1
B) =
2
(C) not defined
(D) o0
7. If a pair of linear equations is consistent, then the lines represented by
them are

(A) parallel

(B) intersecting or coincident
(C) always coincident

(D) always intersecting

8. The distance between the points (3, — 2) and (- 8, 2) is
(A) JB2 units
(B) 4 /10 units
(C)  24/10 units
(D) 40 units

9. 180 can be expressed as a product of its prime factors as
(A)  10x2x3?
(B) 25x4x3
(C) 22x8%x5
(D) 4x9x5

10.  The total surface area of a frustum-shaped glass tumbler is (r; > ry)
A) mrjl+mnryl

(B) wl(rj+ry+m r22

©  Zah (v 1 vryny)

D h%+(, —r,)?
Fill in the blanks in question numbers 11 to 15.

11. If 2isa zero of the polynomial ax?— 2x, then the value of ‘a’ is

[.430/5/3] 7
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C

20 .

60°
A B

3Tpla-2

20. HH 34 $ifse

tan 40° x tan 50°
YT

Ife cos A =sin 42° &, 91 A &1 99 14 il |

LG LR C)
J97 G&IT2] G 26 T Jodb G972 37h] F & |

21. AR tan(A+B)=+3 AN tan (A—B)= —— 2, 0<A+B<90° A>B,

NE)
A @A B & 9 4 HifoT |
[.430/5/3] 8



12,

13.
14.
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If the radii of two spheres are in the ratio 2 :3, then the ratio of their
respective volumes is

A hine intersecting a circle in two points is called a

If ar (A PQR) is zero, then the points P, Q and R are

All squares are . (congruent/similar)

Answer the following question numbers 16 to 20 :

16.
17.
18.

19.

20.

A coin is tossed twice. Find the probability of getting head both the times.

Find the radius of the sphere whose surface area is 36x em?.

Find the value of x so that — 6, x, 8 are in A.P.
OR
Find the 11" term of the A.P. — 27,-22,-17,-12, ... .

In Figure-2, the angle of elevation of the top of a tower AC from a point B
on the ground is 60°. If the height of the tower is 20 m, find the distance
of the point from the foot of the tower.

C
20 m
60°
A B
Figure-2
Evaluate :
tan 40° x tan 50°

OR
If cos A =sin 42°, then find the value of A.

SECTION B
Question numbers 21 to 26 carry 2 marks each.
If tan (A + B) = J3 and tan (A - B) = i, 0<A+B<90° A >B,then

21.

J3
find the values of A and B.

1.430/5/3] 9 P.T.O.
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iR grft for I8 ool (378R) T T (vowel) B 2
23. x % fau g i

J3x2+14x-543 =0

24, T=fafad s =1 arew 39 Hifso

it - 5-15 | 15-25 | 25-35 | 85— 45
ELCIRGIR 2 4 3 1
3TrET
fFrefefiaa seg 100 =i & - % @@= i evlidr @ -
=g (T H) : | 200 — 400 400 — 600|600 — 800 | 800 — 1000| 1000 — 1200
. 21 25 19 23 12
HE
3 A 1 SEcish 1A hiog |

25. Sfa HifS fop 71 forell wmha §&a1 n % T S 60 37 0 () T EAT
Bl Hehdll 7 |

HAUAT

150 dAT 200 T .9, (LCM) 31 <hIfST |

26. 3THA-3 #, AABC @1 AXYZ 3¢ T & | A AB = 3 &, BC = 6 &,
AC =243 aHl, £ A =80°, Z B =60°, XY =43 3, YZ = 12 @i qan

XZ =6 8 B, @ £ Y &1 7 F1d i |

3 qmt

2./3 |

443 o

B
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22. A letter is selected at random from the set of English alphabets. What is the
probability that it is a vowel ?

23. Solve forx:
V3x%+14x - 543 =0

24. Find the mean for the following distribution :

Classes : 5-15|15-25 | 25-85 | 85-45

Frequency : 2 4 3 1

OR
The following distribution shows the transport expenditure of
100 employees :

gl’ipg?fhture 200 — 400 [400 — 600 [600 — 800 | 800 — 1000| 1000 — 1200
Number of 21 25 19 23 12
employees :

Find the mode of the distribution.
25. Check whether 6" can end with the digit ‘O’ (zero) for any natural
number n.
OR
Find the LCM of 150 and 200.

26. In Figure-3, A ABC and A XYZ are shown. If AB = 3 cm, BC = 6 cm,
AC =243 em, £ A =80° £ B =60° XY = 443 cm, YZ = 12 cm and
X7 = 6 cm, then find the value of £ Y.
X

243 cm 443 em 6 cm
3 em

B 6 cm C Y 12 cm Z

1.430/5/3] 11 P.T.O.
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28. 3Ife 3 wataw gfedt 23, 25,27, ... A 5,8, 11, 14, ... % nd 9 HHE &, @ n
HT AH 14 HIT |

29. 3TH(d-4 H, AB 3R CD %3 O 31 Id % & W IF =™ & a1 OD B
JAH M 7 | A OA = 7 Tt B, A1 SHIRd WIT 1 &THA F1G HIT |
B

"~

N
3T ld-4
e

3epfd-5 H, 7 EHT ST At a7 ABCD % 9ieTd U g @iel 1 & | Sifehd
W 1 &S 14 ShITT |
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SECTION C

Question numbers 27 to 34 carry 3 marks each.
27. Construct a triangle with its sides 4 cm, 5 cm and 6 cm. Then construct a

triangle similar to it whose sides are % of the corresponding sides of the

first triangle.

OR
Draw a circle of radius 2-5 cm. Take a point P at a distance of 8 cm from
its centre. Construct a pair of tangents from the point P to the circle.

28. Ifthe n'® terms of two A.P.s 23, 25,27, ... and 5, 8, 11, 14, ... are equal,
then find the value of n.

29. In Figure-4, AB and CD are two diameters of a circle (with centre O)
perpendicular to each other and OD is the diameter of the smaller circle.
If OA =7 cm, then find the area of the shaded region.

B

A
Figure-4
OR

In Figure-5, ABCD is a square with side 7 cm. A circle is drawn
circumscribing the square. Find the area of the shaded region.

1.430/5/3] 13 P.T.O.
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38 fag A W U i 1 dien, foig B W 9 =1 dten, fog ¢ @ @ st @i

quT foig D W U HIE 1 dIGT S0 § | 3Heh 9fd TH Tk e 1 qEa
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IT 57 e | = fiw e e 1 ermgEe e Freafafaa % 3@ @i

AY

[

10
9
8
7 “IC
6 £
¥
5 ol
B
3
%3
2 i
1
> X
of 1 2 3 4 5 6 7 8 9 10

()  TcuTes & % ®9 F 10 x 10 g =1 30 4 g g3 A, B, C qen

D &% Fcsmes 3ma hifsu |
(i)  ¥ma i fR s ABCD tsh TmiaR agyst & =1 =& |
32. fag Fifsu fe
cos.A +1+SinA=25ecA
1+sin A cos A

33. fag Fifvu 6 V3 e suiEs @ 2 |
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30. Prove that the opposite sides of a quadrilateral circumscribing a circle
subtend supplementary angles at the centre of the circle.

31. Krishna has an apple orchard which has a 10 m x 10 m sized kitchen
garden attached to it. She divides it into a 10 x 10 grid and puts soil and
manure into it. She grows a lemon plant at A, a coriander plant at B, an
onion plant at C and a tomato plant at D. Her husband Ram praised her
kitchen garden and points out that on joining A, B, C and D they may
form a parallelogram. Look at the below figure carefully and answer the
following questions :

Ay
10

9

8

: g

5 D‘ )

4 4

3

2

1

of 1 2 3 4 5 6 7 8 9 10

(1) Write the coordinates of the points A, B, C and D, using the
10 x 10 grid as coordinate axes.

(i1)  Find whether ABCD is a parallelogram or not.

32. Prove that:
cos A 1+sinA

- + = 2secA
1+sin A cos A

33. Prove that /3 is an irrational number.

1.430/5/3] 15 P.T.O.
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38. f=fafaa swemar se9 & fow @ =0 yor’ w1 9o Eifaw -

i 0-10{10-20|20-30|30-40{40 - 50(50 — 60/60 — 70|70 — 80

IR : 7 14 13 12 20 11 15 8
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34. The difference between two numbers is 26 and the larger number exceeds
thrice of the smaller number by 4. Find the numbers.

OR
Solve forx and y :
g+§=13 and é—i=—2
X y X y
SECTION D

Question numbers 35 to 40 carry 4 marks each.

35. Two water taps together can fill a tank in 9% hours. The tap of larger
diameter takes 10 hours less than the smaller one to fill the tank

separately. Find the time in which each tap can separately fill the tank.

OR

A rectangular park is to be designed whose breadth is 3 m less than its
length. Its area is to be 4 square metres more than the area of a park
that has already been made in the shape of an isosceles triangle with its
base as the breadth of the rectangular park and of altitude 12 m. Find
the length and breadth of the park.

36. A cyhindrical bucket, 32 cm high and with radius of base 18 cm, is filled
with sand. This bucket is emptied on the ground and a conical heap of
sand is formed. If the height of the conical heap is 24 cm, then find the
radius and slant height of the heap.

37. From a point on a bridge across a river, the angles of depression of the
banks on opposite sides of the river are 30° and 45°, respectively. If the
bridge is at a height of 10 m from the banks, then find the width of the
river. (Use J3 = 1-73)

38. Draw a ‘less than’ ogive for the following frequency distribution :

Classes : 0-10({10-20(20-30|30 —40|40 — 50|50 — 60|60 — 7070 — 80

Frequency : 7 14 13 12 20 11 15 8

1.430/5/3] 17 P.T.O.
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3Tid-6 H, gHaTg s ABC H, AD L BC, BE L AC 91 CF LAB 7 | fag
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A

40. W89 p(x) = 3x* — 4x® — 10x? + 8x + 8 % I YA A HIC, ARG V2 T
—2,, 36 T e Ry M E |

AT
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39. If a line is drawn parallel to one side of a triangle to intersect the other

two sides in distinct points, prove that the other two sides are divided in
the same ratio.

OR

In Figure-6, in an equilateral triangle ABC, AD 1L BC, BE L AC and
CF L AB. Prove that 4 (AD? + BE? + CF?) = 9 AB2

A

H

B D C
Figure-6

40. Find other zeroes of the polynomial
px) = 3x*—4x® — 10x% + 8x + 8,
if two of its zeroes are +/2 and —+/2.

OR

Divide the polynomial g(x) = x® — 8x% + x + 2 by the polynomial

x2 — 2x + 1 and verify the division algorithm.

[.430/5/3] 19



